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Number of Questions to be attempted : 25

Section Marks : 100
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Group All Questions : Yes

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 405036673
Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 4050369405 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Let A={1, 2, 3}. Define a relation R on A

as:
aRb < |a®2—-b3 =5,
Then which of the following is not true ?
Options :
R~ 1=R, where R ! is the inverse

40503634191, “f R

40503634192, Range of Ris A.
40503634193, R is reflexive and symmetric.

40503634194, R is symmetric and transitive.

Question Number : 1 Question Id : 4050369405 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1 )
% collegedunias



oM A={1,2,3} ¥1 AW UF T=- R
Wqﬁﬂlﬁﬂ%:
aRb o |a2—b3<5
= F 9 FF w66 o2
Options :
R-1=R, W=l R-1, R &1 ufa=in

40503634101, (OVerse) T

40503634192, R 1 TRET AT

40503634193, R TG T HAHG 2 |

40503634194, R T T HohFT ¢ |

Question Number : 2 Question Id : 4050369406 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question

Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

The locus of the point

z=x+1y '[x,y eR,i=+-1) satisfying

L
Eleral
Options :
a circle with radius =23
40503634195.
i i 3,0
40503634196 a circle with centre at [w"'_ :'

Qcollegeduniaa



a circle with centre at fﬂ 243} and

40503634197, radius3

an ellipse with length of its minor axis

40503634198, = 3

Question Number : 2 Question Id : 4050369406 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
fag z=x+4 iy i:x,y eR.i=J=1], =

(z—3 ;[ 2l
) Ay

9 T
Options :

arg

10503634195, P 30 toal I 243 zl

wF 39 foma F= (V3, 0) 7
40503634196,

ue g fore = (0, 243 ) aen B
40503634197, 3 &

U =g foaF o A H =T 3 2
40503634198. ™
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Question Number : 3 Question Id : 4050369407 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

If both the roots of the equation,
x?—2ax +a%—1=0(ae R) lie in the interval
(—2 2), then the equation,

x2—(a2+1)x— (a?+2)=0 has
Options :

i 3
40503634199, both roots in (— 3, 0)

one root in (0, 2) and another root in

2
40503634200.{ 2,0)

one root in [2, 3) and another root in

2
40503634201. (-2,0)

one rootin( — 3, — 2) and another root

in (0, 2]
40503634202.

Question Number : 3 Question Id : 4050369407 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Ffg FHF, x2-2ax+a2—-1=0(ae R) F
A g, A (-2, 2) ° ¥, A g,
x2—(a2+1)x—(a2+2)=0:

Options :

40503634199, F A A (=3,0) F ¥

Qcollegedunia;



=1 T HA (0, 2) F a9 THA HA (-2, 0)
40503634200, 1 © |

%1 TS T [2,3) H a9 SHA qA (~ 2,0)
2

40503634201.

F TH g (-3, —2) H 991 THT gA

NH
40503634202. ©, 2] %l

Question Number : 4 Question Id : 4050369408 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
If the system of equations
2x+y+pz=-1
Ix—-2y+z=q
5x —8y+9z=>5
has more than one solution, then g—p is
equal to :
Options :

40503634203.

I3

40503634204,
40503634205, 4
40503634206, — 4

Qcollegeduniaz



Question Number : 4 Question Id : 4050369408 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
RIEECIESUREEIR!
2xx+y+pz=-1
Ix—2y+z=q
5x —8y+9z=>5
FFAAfE T E A q-p WHE
Options :
40503634203. 2

40503634204, — 2

40503634205, 4

40503634206. *

Question Number : 5 Question Id : 4050369409 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
All the words (with or without meaning)
formed using all the five letters of the word
GOING are arranged as in dictionary. Then
the word OGGIN occurs at the place which
is :

Options :

Qcollegedunia;



Ay th
40503634207. {48]

gy th
40503634208. (49)

th
40503634209. {5 m

th
40503634210. {5 1]

Question Number : 5 Question Id : 4050369409 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
¥ GOING & 91 5 27&7% =1 WAFT &4d gU
= T W Y= (AR 9 SAEEH F A1 A =
), IEEH F ATAR A fHy T E, @
%5 OGGIN 7 # & T T Wz ?
Options :

40503634207, 48) =

40503634208, (49) =1

40503634209, 0

(1) =t
40503634210.

Question Number : 6 Question Id : 4050369410 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Mandatory : No Single Line Question Option : No Option Orientation : Vertical
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Correct Marks : 4 Wrong Marks : 1

The sum

2 2 10 18 26
lg_zlg?lg_‘*lg_E

infinity, is equal to :

:__'._}l

Options :

5

40503634211, B

1z

40503634212, 24
11

40503634213, 24

Wl

40503634214.

Question Number : 6 Question Id : 4050369410 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

-

Options :

Qcollegedunia;



oo

40503634211.

o7
24

40503634212.
11

40503634213, 24

o

40503634214.

Question Number : 7 Question Id : 4050369411 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Let r and s be respectively the remainders
when (12)% and (23)'? are divided by 5,
thenr+s is equal to:

Options :
40503634215. 2

e

40503634216.
40503634217.

40503634218, 2

Qcollegedunia;



Question Number : 7 Question Id : 4050369411 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question

Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

54 (12)2 a1 (23) 2 F1 5 F§ fasrtera foran s
T o FHM: YURS r a9 s €, o r+ s SR

g

Options :
40503634215.

40503634216.

40503634217.

2

40503634218.

Question Number : 8 Question Id : 4050369412 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question

Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Let fbe a differentiable function satisfying
f(x+y)=flx)+fly)—xy forall x, ye R. If
| f(h) 10

&lii‘l}}} T = 3, then .-.Eflr{n] isequal to:
Options :
55
40503634219, 2
40503634220, 2

Qcollegedunia;



40503634221.

225
40503634222, 4

Question Number : 8 Question Id : 4050369412 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question

Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

HHI f Ueh SAashe1d Fed § Sl 9ea x, y € R
FTAT, fx +y)=f(x) + f(y) — xy F1 T2 FA

' I . 10
21 Afg lim ey T Y f(n) TR
h—-0 h Bon
T:
Options :
E
40503634219. 2
40503634220, 2
55
40503634221, 4
225
40503634222, 4

Qcollegeduniaz



Question Number : 9 Question Id : 4050369413 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
For non-zero real numbers a, b, if
3
i a+bx?
y(x) = ——=7—,x>0and y’(5)=0, then
x4
theratioa:bis:
Options :

40503634223, V2 3

40503634224, 315

V5:43

40503634225.

40503634226, 31

Question Number : 9 Question Id : 4050369413 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
YT AraaE S a 991 b & faw afg

< N bx 2 :
H(11=T,x>nam y'(5)=07%, @
o5
9 a : b T T :

Options :

Qcollegedunia;



40503634223, V9 13

40503634224, 315

V5:43

40503634225.

40503634226, 31

Question Number : 10 Question Id : 4050369414 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The function f(x)=sin2x+ 2cosx,

[ B 3-7.'}
Xe — ~— 1 hag:

L 4 4: J
Options :
40503634227, 1O critical point.
a point of local maxima and a point
40503634228, ©f local minima.

a point of local maxima and a point

40503634229. of inflection.

a point of local minima and a point

40503634230, °F inflection.

Qcollegeduniaz



Question Number : 10 Question Id : 4050369414 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

e f(x) =sin2x + 2cosx, Xe

. &t a)
%l :
Options :

40503634227, 1S T =g &l 2|

uF farg ™A SfE= ® ao wF fag
40503634228, T TS B

s fag g sfEme 2 a1 us
40503634220, T oG 1
% fag HE fAfE= € a9 =

EIERIECDE Z
40503634230, s

Question Number : 11 Question Id : 4050369415 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

_ j cos’0 it
The integral sinf(4 — 3 sin”20) =

equal to :
(where C is a constant of integration)

Options :

Qcollegedunia;



cos’ | L C

B cnsE | |

1 sin® 0 5
4 sin” 0 + cos” o

40503634232, \ /

E Ioge
40503634231.

5i115

.5
g | sin~ B | Ve
o |5f_t15ﬂ | c055H|

' 6
%Iﬂge [ cos b W We

6 6
sin" 0 + cos"#
40503634234, o it

40503634233.

Question Number : 11 Question Id : 4050369415 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

j CGSSU 46 %
sl sin0(4 — 3 sin”20) e
(&l C U% gHEe F=EL 2 1)
Options :
1 52 )
— L:}g_H Ecoq 5 | +C
] sin” 0 + cos l!|
4050363423 1.

1 sin® 5
'j_ I.['}gt. ( =7 3 W F
4 sin” 0 + cos®H

40503634232, . / ,
Qcollegedunlaa



-
sin- 0 | "
F

s P

Be
20 .5 5
40503634233. lsin®0 + cos”0]
1 50 '
= IDBE { 6‘:0% 3 1 | 'L
ﬁ \.sin" B + cos™0 )
40503634234, :

Question Number : 12 Question Id : 4050369416 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The area (in sq. units) of the region bounded
by the parabolax =2y? and the line x + y=1
15 :

Options :

40503634235. =

40503634236.

w|o

40503634237.

W= |

40503634238.

Qcollegeduniaz



Question Number : 12 Question Id : 4050369416 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

TEeE, x =2y 991 ™, x +y=1 5 Has
&5 1 AR (3T THEdl §) €
Options :

40503634235. =

40503634236.

w|e

40503634237.

W= |

40503634238.

Question Number : 13 Question Id : 4050369417 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Let y=y(x) be the solution of the differential

d
equation xlog, x ay P2y =2x(x >1). I

lim y(x) =1, then y(e?) is equal to :
r—l+
Options :

Qcollegedunia;



[

-2

40503634239.

[ ]

-2

40503634240.

R

40503634241.

%

40503634242.

Question Number : 13 Question Id : 4050369417 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

A y=y(x), FAIFA  HHHI,
A .
xlog, x o F2y =2x (x > 1) e | Afg

lim y(x) =1 S ﬁTy{ez] T E

r—=l+
Options :
n:-2 1
40503634239, 2
02 ol |

40503634240. 2

R

40503634241.

Qcollegedunia;



g
40503634242, €+ 1

Question Number : 14 Question Id : 4050369418 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
If {xr., L.r:.), i=1, 2, 3 are the vertices of an
equilateral triangle such that

(51 + 324y~ 97= (1, + 37+ (y, ~ 4 =
(x3+3)2+ (y; —4)2, then the value of

Vi tyy ti;

15 :
.1'1 | .1'1 | _I:;
Options :
4
40503634243,
4
40503634244, O
3
40503634245, 4
3
40503634246, 4

Question Number : 14 Question Id : 4050369418 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
gcollegedunias

Correct Marks : 4 Wrong Marks : 1



Afe uh =g By % i fag (v, ), i=1,

2,3 % fe fou
(x1+3)2 + (y; — 4)*= (x, +3)2 + (y, —4)?

_ s 2y & N1t tYa
(3 +3P+ w972 W | T,

M E
Options :

W

40503634243.

| W

40503634244.

| G

40503634245.

W |

40503634246.

Question Number : 15 Question Id : 4050369419 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is

Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

If tangent at [

i %
V2 V2)

24 y2=l is also a tangent to the circle
(x—a)’+ (y b)*>=1, then the ordered pair

(a, b) can be:

W to the circle

Qcollegeduniaa



Options :

2, V2]

40503634247

(2, 242)
40503634248. :

(2, 242

40503634249. {

(-v2, \2)

40503634250.

Question Number : 15 Question Id : 4050369419 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is

Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

= . - .
A ga 2 +y2=17h x[——,—z R L& E|
- & ﬁlﬁkﬁ JZJ
T, (x —a)2+ (y— b)2 =1 4 T390 FTAl
2, 1 HHT I (a, b) B HHa1 & ;

Options :
(-2, V2)
40503634247, '
(~2, 242)
10503634248, € Yo V2)

(2 242)

40503634249. {

Qcollegeduniaz



(=243

40503634250.

Question Number : 16 Question Id : 4050369420 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
The foci of a hyperbola coincide with the
o 2
foci of the ellipse, L [ . 1. If the
16 9
eccentricity of the hyperbola is 4, then its

equation is :

Options :
e S
40503634251, 105 4
9 y.
W

40503634252, /105 16

2 _y_1
40503634253, 20 7> 16
Cl o
40503634254, 2 2 16

Question Number : 16 Question Id : 4050369420 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Qcollegedunia;



Correct Marks : 4 Wrong Marks : 1
TF Afamaed & Jf9 F-, 9,

2 2
% | %=1%Wﬁﬁﬁf?¢w%| Itz
AT i Iob=dl 4 €, o SHHT THIH

T

Options :
1_2 -—1y2 S,
40503634251, et 2
5 2
x- L

40503634252, / 105 16

2 2

. SN
40503634253, 20 7516

2 _y_1
40503634254, ° /0 16

Question Number : 17 Question Id : 4050369421 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
If the plane P : 2x—y+ 3z + 5=0 is rotated
through 90° about its line of intersection
with the plane 5x —4y— 2z + 1=0, then the
equation of the plane I in the new position

is Qcollegeduniaa



Options :
27x—24y—26z+13=0

40503634255,
e ", B o s
40503634256, /X~ 24y—26z-13=0
o -:} .j L. .
40503634257, S1x+2y =20z -13=0

40503634258, 1x— 25y +292+13=0

Question Number : 17 Question Id : 4050369421 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Ffg THae P : 2x —y+3z +5=0 % THIA
Sx—4y —2z+1=074 T9qE P & Yideaed
Y F HeS 90° % O T IHE W €, ol
Tt fefa # wmae P 1 GEE 2
Options :
20503634255, D2y Hrxla=l

-jn_ 'j‘ ,j.ﬂ s
40503634256, 27X~ 24y—26z-13=0

40503634257, S1x +2y =20z -13=0

40503634258, 1x— 25y +29z+13=0

Question Number : 18 Question Id : 4050369422 Question Type : MCQ Option Shuffling : Yes Display Question Number
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical W collegedunia
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Correct Marks : 4 Wrong Marks : 1
The top of two poles, standing 4 m apart
on a horizontal plane, are connected by a
cable. If the angles of depression from the
top of one pole to the bottom of another
pole are 30" and 457, then the minimum
length (in m) of the cableis:

Options :

132./3 — 16

40503634259. \j 3

128 - 323

|
40503634260, ! 3

122 -32.3
V' 3
40503634261. -

1112 32./3
40503634262, ! 3

Question Number : 18 Question Id : 4050369422 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Qcollegeduniaz



Afas 7e T 2 T 4 T F gl W 'Y '
%mfmﬁﬁﬁm{cahhjmﬁ@
T E | A U T e g m e #
e § SAFTHT HI0 30° TA45° F T Fefed i
Y o= (6 H) ®

Options :

132./3 — 16

40503634259 ‘j 3

(128 - 32 /3

|
40503634260. \ 3

122 -32.3
V' 3
40503634261, -

1112 32.3
40503634262, | 3

Question Number : 19 Question Id : 4050369423 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is

Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

Qcollegeduniaz



Let A, B and C be three events such that

the prnbabﬂit}-' of occurrence of ex acti}-' one

1
of A and B is 57 the probability of

occurrence ol exactl}-' one of B and C is 1

and the probability of occurrence of exactly

1
one of C and A is I If the prnnvl:'-al:!ﬂi’q;r of

occurrence of all the three events

1
simultaneously is 16" then the probability

that at least one of the three events will

OCoCur is
Options :
]
40503634263, 1©
13
40503634264, 10
7
40503634265. 8
15
40503634266. 10

Question Number : 19 Question Id : 4050369423 Question Type : MCQ Option Shuffling : Yes Display Question Number Qcollegedunias



Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

[T T 9298 A, B a91C T YR ® fF
w o m = = m Py I

AT B H | HE UF F FW F WA S 2
e = = i~ - ?"

BﬂquHnﬁwimaqmummmzﬁ

ﬁﬂcw‘aﬁﬁmt@ﬁ%ﬁ%ﬁﬁnﬁaﬁmi
T Afe T T2 F U WY 21 1 o
— % AT T A A T A AT
gﬁﬁmﬁ?ﬂ% -
Options :
&

6

(=1

40503634263.

13
40503634264, 16
7

40503634265. 8

15

40503634266, 10

Question Number : 20 Question Id : 4050369424 Question Type : MCQ Option Shuffling : Yes Display Question Number
@, collegedunias



Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Let
p : L have passed JEE (Main),
q : My JEE (Main) rank is 100, and
r: [ will appear in JEE (Advanced)
be three statements with truth values
T,F and T respectively. Then which one of
the following has the truth value, F ?
Options :
s0s03634267, L P T UNT

40503634268, (P~ T D v (~ 1)

40503634260, PV D A (D)

40503634270, (P A VT

Question Number : 20 Question Id : 4050369424 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is

Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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M
p : ¥ JEE (Main) T8 & foman 2,
q : ¥ JEE (Main) ¥ % (Rank) 100 € =1
r: § JEE (Advanced) & Ter gm
1 o €, f9% aog9m w59 T,Faan T 2|
a1 for= | 9 T g F 872

Options :

s0503634267. . P DT

40503634268, P~ ¥ (1)

40503634260, ¢ PV D A (D)

40503634270, (P A v T

Sub-Section Number :
Sub-Section Id :
Question Shuffling Allowed :

Question Number : 21 Question Id : 4050369425 Question Type : SA Display Question Number : Yes

Correct Marks : 4 Wrong Marks : 0

2
405036674
Yes

Qcollegeduniaa



' s T

Let B = : be the matrix obtained
10

by applying the elementary row operations

Ry »Ry-R,, Ry - 2R, and

-1{1 — Ry 2R, (in this order only) on a

maftrix A. Then the sum of all entries of A
is

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

510 5.002

Question Number : 21 Question Id : 4050369425 Question Type : SA Display Question Number : Yes

Correct Marks : 4 Wrong Marks : 0
At A= A W IRFF qfF dfeana
Ry =R, 2R, (Faa sHI A H) F WA A

22 -26 : G
E-HEEB=[6 m]mm%mfuﬁ
[t 379741 (entries) T AFTHA & |

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

:
Qcollegedunla;
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Possible Answers :

5t05.002

Question Number : 22 Question Id : 4050369426 Question Type
Correct Marks : 4 Wrong Marks : 0

For beN, if the limit of the function

[[6x — 4], x <4
f(x) = {[x +b]
| 2

, x=>4

when ¥ — 4, exists and [t] denotes the

greatest integer =t, then b is equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.002

Question Number : 22 Question Id : 4050369426 Question Type
Correct Marks : 4 Wrong Marks : 0

([5x —4], x <4

beN % ford, W& f(x) = {[x + ]

.

I T Ay — 4 T W ARG T AR ]

HETH YUiE <t I S ¢, A b TR ¥
|

>4

: SA Display Question Number : Yes

: SA Display Question Number : Yes

Qcollegeduniaz



Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.002

Question Number : 23 Question Id : 4050369427 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

If S = {xe[0, 4]: sin2x — cosx = 0} and the
sum of the elements of 5 is k7, then k is

equal to ___

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.002

Question Number : 23 Question Id : 4050369427 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

Aqfz S = {x€]0, 477]: sin2x — cosx = 0} & 7=
Y= S F 9t A7l 1 90TEA ke B, @1k
TR & |

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range Q collegedunias



Text Areas : PlainText
Possible Answers :
5 to 5.002

Question Number : 24 Question Id : 4050369428 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

If the mean of the numbers

7, =h, —2 x,5is —1, then the variance

of the numbersx —3,4x, x +3is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t0 5.002

Question Number : 24 Question Id : 4050369428 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

Afe gE@madi -7, -5, -2, x, 5F AT — 1%,
@ HEs x -3, 4y, x+3 HT G ©
|

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.002

Qcollegedunia;



Question Number : 25 Question Id : 4050369429 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

If the equation of a plane P passing through

the point = f it is

r (2: ; I ﬂk} =3, then the length of

h s

the perpendicular [rom the point

4i ; + 3k on the plane P is
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText
Possible Answers :

5t05.002
Question Number : 25 Question Id : 4050369429 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

AR TH TG P, W fag § o4 G4k WA

T & o HHE T .(2? ; | aﬂ 3%
A

LS

Wfag 4i — ] +3k ¥ TG PR MU
TE R AEACTE |

Response Type : Numeric Q collegedunias



Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.002

Section Id :

Section Number :
Section type :
Mandatory or Optional :
Number of Questions :

Number of Questions to be attempted :

Section Marks :

Display Number Panel :

Group All Questions :

Mark As Answered Required? :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

Aptitude Test

405036339
2

Online
Mandatory
50

50

200

Yes

Yes

Yes

1
405036675
Yes

Question Number : 26 Question Id : 4050369430 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is

Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

gcollegedunia;



The3d-Df igure shows the view of an nhject. Idc-n’rif}-' the correct top view from amongst the
answer figures.
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Options :

40503634276.

40503634277.

40503634278.

40503634279.

Question Number : 26 Question Id : 4050369430 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Qcollegedunia;
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Options :

40503634276.

40503634277.

40503634278.

40503634279.

Question Number : 27 Question Id : 4050369431 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Qcollegedunia;

Correct Marks : 4 Wrong Marks : 1



The3d-Df igure shows the view of an ohject. Idenﬁ_f}-' the correct top view from amongst the
answer figures.

Options :

40503634280.

40503634281.

40503634282.

40503634283.

Question Number : 27 Question Id : 4050369431 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Qcollegedunia;

Correct Marks : 4 Wrong Marks : 1



3 -D 9 AP H UH o % U gvd 1 fSEd T ¥ THeE WEl S 59, S aiadl 4 |
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Options :

40503634280.

40503634281.

40503634282.

40503634283.

Question Number : 28 Question Id : 4050369432 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Qcollegedunia;

Correct Marks : 4 Wrong Marks : 1



The 3 - D figure shows the view of an object. Identify the correct top view from amongst the
answer figures.
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Options :

40503634284.

40503634285.

40503634286.

40503634287.

Question Number : 28 Question Id : 4050369432 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Qcollegedunia;
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Options :

40503634284.

40503634285.

40503634286.

40503634287.

Question Number : 29 Question Id : 4050369433 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Qcollegedunia;

Correct Marks : 4 Wrong Marks : 1



The3-D ¢ igure shows the view of an nhjoct. Idc-nﬁ_f}-' the correct top view from amongst the
answer figures.

40503634288.

40503634289.

40503634290.

40503634291.

Question Number : 29 Question Id : 4050369433 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Qcollegedunia;

Correct Marks : 4 Wrong Marks : 1



3 - D WY SH § UF 9% F UF gv9 F G T ¥ SHE W S 9vd, S ShiEl § 9
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Options :

40503634288. —|
40503634289. —I
40503634290.
40503634291.

Question Number : 30 Question Id : 4050369434 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Qcollegedunia;

Correct Marks : 4 Wrong Marks : 1



The3d-Df igure shows the view of an nhjr:-ct. Idenfj_t'}-' the correct top view from amongst the
answer figures.

40503634292.

40503634293.

40503634294.

40503634295.

Question Number : 30 Question Id : 4050369434 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Qcollegedunia;

Correct Marks : 4 Wrong Marks : 1



3 - D W G H UF 9% F U 34 Fl (o 2| SHE Wl S g9, I AFE H 4
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Options :

40503634292.

40503634293.

40503634294.

40503634295.

Question Number : 31 Question Id : 4050369435 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Qcollegedunia;

Correct Marks : 4 Wrong Marks : 1



Which one of the answer [ igures is the correct mirror image of the pmhlc-m [ igure with respect

toX =-X7
X
[ <
X
Options :
2
U
40503634296.
"-:I- |
}
40503634297, ——
S
40503634298, L——

40503634299.

Question Number : 31 Question Id : 4050369435 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Qcollegedunia;

Correct Marks : 4 Wrong Marks : 1



I SAHTaEl § H A d S & T WA SEia X - X W gt w8 gdu wiafae € 2

X
r e
X
Options :
A
]
40503634296.
v:l- |
/‘;
40503634297, —
S Y
40503634298, ——

40503634299.

Question Number : 32 Question Id : 4050369436 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Qcollegedunia;



Which one of the answer figures is the correct mirror image of the problem figure with respect
toX-X7?

oy

Options :

X

O
40503634300.

i
40503634301. EJ

FIEL
40503634302. 5‘_‘

il
40503634303. EJ

Question Number : 32 Question Id : 4050369436 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
gcollegedunia;

Correct Marks : 4 Wrong Marks : 1



IR SAHaal § A HH G A < T T S B X - X H FrEfad F@ g9 qfafer €2
X
X

Options :

40503634300,

40503634301,

40503634302.

40503634303,

Question Number : 33 Question Id : 4050369437 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

gcollegedunia;



Which one of the answer [ igures is the correct mirror image of the prnhlc-m [ igure with respect

X -X7
X
¥ i
X
Options :
"‘\\ IL-I'{
N1
% _,-"'-’-'rlf’
40503634304, L—
e
40503634305. A
K xﬂ -L’.’__:.#_j,\
40503634306, ——
\ .____.--"E__.--"'
40503634307, £—

Question Number : 33 Question Id : 4050369437 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Qcollegeduniaz

Correct Marks : 4 Wrong Marks : 1
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X
L
B
x
Options :
\_h*,h.ll'-.'i
e
kY __,.r'"-',::"
40503634304, =
A
40503634305.
[~ LH/Z ’
L i
40503634306. ~

40503634307.

Question Number : 34 Question Id : 4050369438 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Qcollegeduniaz



Which one of the answer figures is the correct mirror image of the problem figure with respect
toX-X7?7

574

Options :

40503634308.

40503634309.

40503634310.

o0 B R R

40503634311.

Question Number : 34 Question Id : 4050369438 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
gcollegedunia;

Correct Marks : 4 Wrong Marks : 1
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Options :

X

40503634308.

40503634309.

40503634310.

=0 B R R

40503634311.

Question Number : 35 Question Id : 4050369439 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

gcollegedunia;



Which one of the answer figurr_-s is the correct mirror image of the p roblem [ igure with respect

toX-X?
X
L Ll
'S
X
Options :
]
A
40503634312.
i
) L]
40503634313.
40503634314.
40503634315.

Question Number : 35 Question Id : 4050369439 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1 Q collegedunia:
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X
X
Options :
1
[= ]
40503634312.
| -
RE)
40503634313.
40503634314.
40503634315.

Question Number : 36 Question Id : 4050369440 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Qcollegedunia;

Correct Marks : 4 Wrong Marks : 1



Find the odd figure out of the problem figures given below.

Options :

40503634316.

40503634317.

40503634318.

40503634319.

Question Number : 36 Question Id : 4050369440 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
== <1 T 9 ARfaEl | | o et vemt e |
Options :

Qcollegedunia;



40503634316.

40503634317.

40503634318.

40503634319.

Question Number : 37 Question Id : 4050369441 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Find the odd figure out of the problem figures given below.

Options :

40503634320, M collegedunia



40503634321.

40503634322.

40503634323.

Question Number : 37 Question Id : 4050369441 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
= =t T weA Sepfadl § H famm st vemt |
Options :

40503634320.

gcollegedunias



40503634321.

40503634322.

40503634323.

Question Number : 38 Question Id : 4050369442 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is

Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

Find the odd figure out of the problem figures given below.

Options :

40503634324.

gcollegedunias



40503634325.

40503634326.

40503634327.

Question Number : 38 Question Id : 4050369442 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is

Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

== <t T g eepfadi | | fawm st vemi |
Options :

40503634324.

gcollegedunia;



40503634325.

40503634326.

40503634327.

Question Number : 39 Question Id : 4050369443 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is

Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

Find the odd figure out of the problem figures given below.

Options :

40503634328.

gcollegedunia;



40503634329.

40503634330.

] A
1

]
]

40503634331.

Question Number : 39 Question Id : 4050369443 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
== <1 T 9 Afadl | | faum e ventE |
Options :

40503634328.

gcollegedunia;



40503634329.

40503634330.

40503634331.

1/
]

1]

]
]

Question Number : 40 Question Id : 4050369444 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is

Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

Find the odd figure out of the problem figures given below.

Options :

40503634332.

gcollegedunias



40503634333.

40503634334.

40503634335.

Question Number : 40 Question Id : 4050369444 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is

Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

== <t T 99 sRfaal § o faum snefa weee

Options :

40503634332.

Qcollegedunia;



40503634333,
N
:[ )
kY = -{,;
40503634334,
0\
:I( )
40503634335, )

Question Number : 41 Question Id : 4050369445 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The 3 - D figure shows the view of an object. Identify the correct front view in the direction of
the arrow, from amongst the answer figures.
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40503634336.

40503634337.

40503634338.

40503634339.

T

Question Number : 41 Question Id : 4050369445 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is

Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

gcollegedunia;
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Options :

40503634336.

40503634337.

40503634338.

40503634339.

:
Qcollegedunlaz
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Question Number : 42 Question Id : 4050369446 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is

Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

The 3 - D figure shows the view of an object. Identify the correct front view in the direction of
the arrow, from amongst the answer figures.

Options :

40503634340.

40503634341.

40503634342.

40503634343.

Qcollegeduniaz



Question Number : 42 Question Id : 4050369446 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is

Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

3 - D W ARG T U 9% F U 399 1 Tam@men wen g | 9 Fi faen ¥ S| g, sHE W v
I AFHTE H | TE= |

Options :

40503634340.

40503634341.

40503634342.

40503634343.

Qcollegedunia;



Question Number : 43 Question Id : 4050369447 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is

Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

The 3 - D figure shows the view of an object. Identify the correct front view in the direction of
the arrow, from amongst the answer figures.

-~

Options :

40503634344.

40503634345.

40503634346.

Qcollegeduniaz



40503634347.

Question Number : 43 Question Id : 4050369447 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
3 - D WA ATHI T T 9% F T 599 I fam@mn 7 E | i faen § S gy, sHE I v
I AFHTE H | TE=d |

Options :

40503634344.

40503634345.

Qcollegedunia;



40503634346.

40503634347.

Question Number : 44 Question Id : 4050369448 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is

Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

The 3 - D figure shows the view of an object. Identify the correct front view in the direction of
the arrow, from amongst the answer figures.
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Options :

40503634348.

Qcollegeduniaz



40503634349.

40503634350.

40503634351.

Question Number : 44 Question Id : 4050369448 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
3 - D W¥ SEHa § UF 75 % U 5¥9 FI @ T g | 9w faen H S gy, THE 9RE 9% &
SW AFfaE § 9 vt |
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40503634348.

40503634349.

40503634350.

40503634351.

Question Number : 45 Question Id : 4050369449 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

gcollegedunia;



The 3 - D figure shows the view of an object. Identify the correct front view in the direction of
the arrow, from amongst the answer figures.
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Options :

I
40503634352.
|
I
40503634353.
L
|
40503634354.
I
40503634355.
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Question Number : 45 Question Id : 4050369449 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
3 - D9 A H UF 9% F UF 579 F fommn mn g1 i # few F S g, s9E IeE o =
W AFIE H F TE=E |

-
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Options :

L
40503634352.
-
40503634353
L
|
40503634354
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40503634355.

Question Number : 46 Question Id : 4050369450 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Which one of the answer figure will complete the sequence of the three problem figures ?

Options :
N5
40503634356.
40503634357.
40503634358.
——

40503634359.
Qcollegedunia;



Question Number : 46 Question Id : 4050369450 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
I SAFaAl § H FH H SAHT H T G SAFHE H e ST (sequence) T 2 S ?

s, _,.-"'-
- ___.-" WY
Ny
FE Y e
ra ; L 4
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w w,  F LW r
Y

Options :
N5
40503634356.
40503634357.
40503634358.
——
40503634359.

Question Number : 47 Question Id : 4050369451 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
gcollegedunias



Correct Marks : 4 Wrong Marks : 1
Which one of the answer figure will complete the sequence of the three problem figures ?

?

Options :

40503634360.

40503634361.

40503634362.

40503634363.

Question Number : 47 Question Id : 4050369451 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
I SATFaAl § H FH H SAH H T G SAFH T H e H ST (sequence) T 2 S ?

7

gcollegedunia;



Options :

40503634360.

40503634361.

40503634362.

40503634363.

Question Number : 48 Question Id : 4050369452 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Which one of the answer figure will complete the sequence of the three problem figures ?
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==l e I WA PN
L ¥ * -: L LAY
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o e

40503634364.

gcollegedunias



40503634365.

40503634366.

40503634367.

Question Number : 48 Question Id : 4050369452 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
T SAFTE § F FE W SAH A G AFaE J T H STH (sequence) T 2 STET 2
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Options :

40503634364.

40503634365.

gcollegedunias



40503634366.

s

40503634367.

Question Number : 49 Question Id : 4050369453 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Which one of the answer figu re will cnmplr_-te the sequence of the three prnhlr_-m figures ?

?
Options :
40503634368. \Ggr‘é
40503634369.
40503634370.

Qcollegeduniaz



40503634371.

Question Number : 49 Question Id : 4050369453 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is

Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

I AFaAr § H FH W AFHT A A G AFTE H oTH F SFIHT (sequence) T TR ?

G-

Options :

40503634368.

40503634369.

40503634370.

40503634371.

A&

:
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Question Number : 50 Question Id : 4050369454 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Which one of the answer figurr:- will cmnplc-tr_- the sequence of the three pmhlc-m figurr_-s ?

N\
=, o,
NN

Options :
N
NN
N
40503634372.
>
SR
“\w
40503634373.
\\\\\
o
N
40503634374.
,
\
N
40503634375.

Question Number : 50 Question Id : 4050369454 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Qcollegedunia;



B I N
ANV NN ?
% %§ \%\\\\\\ -

Options :
N
N
40503634372. -
N
N
.f\\Q\
40503634373, —
\\.\'\\
i)
NN
40503634374.
",
N
. ‘_\ﬁ
40503634375.

Question Number : 51 Question Id : 4050369455 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Qcollegeduniaz



The 3 - D figure shows the view of an object. Identify the correct view in the direction of the
arrow, from amongst the answer figures.

Options :

40503634376.

40503634377.

40503634378.

—

40503634379.

Question Number : 51 Question Id : 4050369455 Question Type : MCQ Option Shuffling : Yes Display Question Number * Ve« Te
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Qcollegeduniaz



Correct Marks : 4 Wrong Marks : 1
3 - D 999 ST H UF TG F U 999 FI o@mn T g1 7R F1 e # T gy, 39 9 g9 F
I SAHE A 9 TEE |

40503634376
L]
40503634377.
|
L
40503634378.
40503634379.

:
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Question Number : 52 Question Id : 4050369456 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The 3 - D figure shows the view of an object. Identify the correct view in the direction of the
arrow, from amongst the answer figures.

Options :

40503634380.

4050363438]1.

40503634382.

40503634383. :
Qcollegedunla;



Question Number : 52 Question Id : 4050369456 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is

Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

3 - D W HAHTT | UF 9% % Uk ¥4 I fomaman T ¥ o i fewn F S gu, sHE IR oy
I HAFHTE H H TEE |

Options :

40503634380.

40503634381.

40503634382.

Qcollegedunia;



40503634383.

Question Number : 53 Question Id : 4050369457 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The 3 = D figure shows the view of an object. Identify the correct view in the direction of the
arrow, from amongst the answer figures.

T~
Options :
[
40503634384.
40503634385.
]

40503634386. .
Qcollegedunla;



40503634387.

Question Number : 53 Question Id : 4050369457 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

3 - D 999 S H U 95 F UF 299 FI femmn ¥ 91 F1 fewn ¥ 2d gy, s 9 gy &
I SAHaE § 9 T2 |

Options :

40503634384.

40503634385.

Qcollegedunia;



40503634386.

40503634387.

Question Number : 54 Question Id : 4050369458 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The 3 = D figure shows the view of an object. Identify the correct view in the direction of the
arrow, from amongst the answer figures.

.‘.H.H *-I g "“H[..-'j
Options :
40503634388. 1
L[ 1 |
40503634389.

Qcollegedunia;



40503634390.

40503634391.

Question Number : 54 Question Id : 4050369458 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

3 - D WA HATHTT | U 9% & U 94 i Tem@man T ¥ | o i few § T gu, sHE IR g9 &
I AFHE J F TEEnd |

Options :

—

40503634388.

mml

40503634389.

Qcollegeduniaz



40503634390.

40503634391.

Question Number : 55 Question Id : 4050369459 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The 3 - D figure shows the view of an object. Identify the correct view in the direction of the
arrow, from amongst the answer figures.

40503634392.

40503634393. N
Qcollegedunlaz



40503634394.

40503634395.

Question Number : 55 Question Id : 4050369459 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
3 - D W¥H ST T U 9 F UF 999 H femrn e ¥ R F fawn ¥ 29 gu, 39 e g
I SAFHE H | 2= |

Options :

40503634392.

Qcollegedunia;



40503634393.

40503634394.

40503634395.

Question Number : 56 Question Id : 4050369460 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The problem figure shows the top view of objects. Looking in the direction of the arrow,
identify the correct elevation, from amongst the answer figures.

I
& K
rd ;
¥
Fi
i | i
L ___.f"

Options :

40503634396. .
% collegedunias



40503634397.

40503634398.

40503634399.

Question Number : 56 Question Id : 4050369460 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Y AR F TGS 1 F94 3949 femm T 21 91 F 798 | S@d 3 I A fadl § ° 98 99E
¥4 YEAd |

Options :

gcollegedunias



40503634396.

40503634397

| ]
40503634398.

| ]
40503634399.

Question Number : 57 Question Id : 4050369461 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The problem figure shows the top view of objects. Looking in the direction of the arrow,
identify the correct elevation, from amongst the answer figures.

Qcollegedunia;



Options :

40503634400.

40503634401.

40503634402.

40503634403.

=2l

"
|
.
!

Question Number : 57 Question Id : 4050369461 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is

Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1
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Options :

40503634400,
i r%
40503634401
—
40503634402,
FH
40503634403,

Question Number : 58 Question Id : 4050369462 Question Type : MCQ Option Shuffling : Yes Display Question Number
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical g collegedunias



Correct Marks : 4 Wrong Marks : 1

The problem figure shows the top view of objects. Looking in the direction of the arrow,
identify the correct elevation, from amongst the answer figures.

Options :

40503634404.

40503634405.

40503634406.

40503634407.

Qcollegeduniaa



Question Number : 58 Question Id : 4050369462 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
¥ SR H TEgsl 1 S v fammn T € 9 #1 o | S gu SW A adl |§ 9 el 99
T T |

Options :

40503634404.

40503634405.

40503634406.

gcollegedunias
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Question Number : 59 Question Id : 4050369463 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The problem figure shows the top view of objects. Looking in the direction of the arrow,
identify the correct elevation, from amongst the answer figures.

40503634407.

i
00
100

.-/ \"
i \'\.

Options :

uikal

40503634408.

il

40503634409.

Qcollegedunia;



o

40503634410.

il

40503634411.

Question Number : 59 Question Id : 4050369463 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
¥ S H Fegell 1 S 29 e T g1 9r w6 fae | S gu sw o | 9 98 9y
99 TEEIH |

i
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100
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Options :

Hn Al

40503634408.

gcollegedunia;



il

40503634409.
40503634410.
40503634411.

Question Number : 60 Question Id : 4050369464 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The problem figure shows the top view of objects. Looking in the direction of the arrow,
identify the correct elevation, from amongst the answer figures.

Options :

Qcollegedunia;



40503634412.
1t
40503634413.
i
40503634414.
S
40503634415.

Question Number : 60 Question Id : 4050369464 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
W AT | FEgeii 1 S v femmn T 1 F 6 foe H SEd g I ol | 9 we '
T A |

L
T

Fy
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Options :

gcollegedunias



40503634412.
1t
40503634413.
i
40503634414.
S
40503634415.

Question Number : 61 Question Id : 4050369465 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The White House is which one of the
[ nllnwf_ng ?

Options :

Residence of Prime Minister of

Germany
40503634416. e

40503634417, Residence of Prime Minister of France

40503634418, Residence of Prime Minister of Spain

40503634419 Residence of President of USA -
% collegedunias



Question Number : 61 Question Id : 4050369465 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
=52 By Fefefad S A FA @M ?
Options :

40503634416, ToEI B TIELTAL T ET0S

T & TYEEAT =51 FaEm
40503634417.

40503634418, T & FUFHA! 1 (AT

g T ST ¥ T e
40503634419.

Question Number : 62 Question Id : 4050369466 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

In the Northern Hemisphere the summer
sun rises from which one of the following
directions 7

Options :

40503634420, TNorth East

40503634421, North West

40503634422, >0uth East

Qcollegedunia;



40503634423, South West

Question Number : 62 Question Id : 4050369466 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
I Tiend | G {9 e famed 1 9
g ue faen 9 31 €72
Options :
40503634420, 500 13

40503634421, SO% ¥

40503634422, 40 T3

40503634423, AT TIvEH

Question Number : 63 Question Id : 4050369467 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

In which of the following States is the
Golden Temple located ?

Options :

Harvana

40503634424. ’

40503634425, L unjab

Qcollegedunia;



40503634426, F1ssam

40503634427, "Nagaland

Question Number : 63 Question Id : 4050369467 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
freAfafed 5 3 #1 9 729 § @i w6 fem
€7

Options :

40503634424.

40503634425.

40503634426.

40503634427. IE

Question Number : 64 Question Id : 4050369468 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

What is the thickness of a one and a half
brick thick wall ?
Options :

40503634428. g

40503634429 12° gcollegedunias



40503634430, 18"

40503634431, 1357

Question Number : 64 Question Id : 4050369468 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Options :

40503634428. 4

40503634429, 127

40503634430, 18"

40503634431, 135"

Question Number : 65 Question Id : 4050369469 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Which one amongst the following supports
the masonry above doors and windows ?

Options :
40503634432, Foundation

40503634433, Lintel

gcollegedunias



40503634434, Slab

40503634435, "Wooden frame

Question Number : 65 Question Id : 4050369469 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Tafafad # 9 & 9 <2 3R faefe &
FHR T 1 weE w2 7

Options :

40503634432, 1

40503634433,

40503634434, 1=

40503634435. gt LA

Question Number : 66 Question Id : 4050369470 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
The Leaning Tower in Italy is located in
which one of the following cities ?
Options :

40503634436, Florence

Qcollegedunia;



40503634437, Venice

40503634438, Lisa

40503634439, Rome

Question Number : 66 Question Id : 4050369470 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

sl 1 @it 2Ee e | 9 g s fem
272

Options :

',

40503634436.

40503634437, ATTH
40503634438, TTHI

40503634439, 04

Question Number : 67 Question Id : 4050369471 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Which one of the garden of the following
is a terraced garden in Srinagar ?

Options :
40503634440, Nishat

gcollegedunias



40503634441, Vrindaban

4050363444, Buddha

40503634443, Nehru

Question Number : 67 Question Id : 4050369471 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Frfefiaa § | &1 O Tg&r@l 9wl U S
A H fro 37

Options :

40503634440. I

40503634441. 1

40503634442, 95

-

40503634443, 00

Question Number : 68 Question Id : 4050369472 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

What amongst the following is the name
of the famous museum in Hyderabad ?
Options :

gcollegedunias



40503634444, Talaknuma

40503634445, DAlarjung

40503634446, Gandhi

40503634447, Nizam

Question Number : 68 Question Id : 4050369472 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Frafeafaa # & %M 0 derae F vfas dreem
FAHE?

Options :

40503634444. A

40503634445. I

40503634446, THEI

40503634447, TTIH

Question Number : 69 Question Id : 4050369473 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Which one of the color is made when blue

and yellow are mixed ?
Qcollegedunia;



Options :

40503634448, Violet

40503634449, Orange

40503634450, Green

40503634451, /Vhite

Question Number : 69 Question Id : 4050369473 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

o1 AR et 31 F fagor § w8 ?
Options :

40503634448. ST

40503634449, T

40503634450, &

40503634451,

Question Number : 70 Question Id : 4050369474 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Which one of the following color suggests
love and romance ?

Options : gcollegedunia;



40503634452, Drue

40503634453, Green

40503634454, LNk

40503634455, DrOWR

Question Number : 70 Question Id : 4050369474 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
=1 @ § | FF W UF WR AR T9" I
T & ?

Options :

40503634452. ol

40503634453, °0
40503634454, 34

40503634455. kS

Question Number : 71 Question Id : 4050369475 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

gcollegedunia;



Which one of the following suggests the
texture of the skin of the elderly persons ?

Options :

40503634456, Clossy

40503634457, Wrinkled

40503634458, ~mooth

40503634459, 2Ot

Question Number : 71 Question Id : 4050369475 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

=1 § | FA W o Al w5 o w
2 1 GoAE <l € 2

Options :

40503634456, TADEN

40503634457. 4

40503634458. g

40503634459, TH

Question Number : 72 Question Id : 4050369476 Question Type : MCQ Option Shuffling : Yes Display Question Number
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical Q collegedunia:



Correct Marks : 4 Wrong Marks : 1

Which one of the following is fixed to drain
water from a sloping roof ?

Options :
40503634460, Ridge

40503634461, Eave

40503634462, 1- Bolt

40503634463, utter

Question Number : 72 Question Id : 4050369476 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

11§ § F-1 UF 5 F1 Fd 9 e &
foru Foor e T &2
Options :

40503634460, T3

40503634461, B9
40503634462, - =

40503634463, Y

Question Number : 73 Question Id : 4050369477 Question Type : MCQ Option Shuffling : Yes Display Question Number Q lleseduni
W collegedunia:s



Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1
Which one of the following is ideal flooring
for a cinema hall ?
Options :
40503634464, CTANILE

40503634465, Brick
40503634466, Marble

40503634467, “arpet

Question Number : 73 Question Id : 4050369477 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

freafafaa § 9 %@ @1 form 2fa % fau s
I 2
Options :

n

40503634464.

40503634465, 2%

40503634466, TTHHT

"

40503634467.

Qcollegedunia;



Question Number : 74 Question Id : 4050369478 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Who among the following is the architect

of the Punjab Haryana High Court

Building ?
Options :
40503634468, Maxwell Fry

40503634469, € CoTDUSIeT

40503634470, Louis Kahn

40503634471, Geoflrey Bawa

Question Number : 74 Question Id : 4050369478 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
A E 3 82
Options :

=, [

Tedeel Wle
40503634468.

40503634469, 1 T1AHR

40503634470. il

Qcollegedunia;



40503634471.

Question Number : 75 Question Id : 4050369479 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Which one among the following is used for
water conservation ?

Options :

Water drainage

40503634472.

40503634473, Water evaporation

40503634474, "V ater harvesting

40503634475, VVater flowing

Question Number : 75 Question Id : 4050369479 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
el WL o Teru ffefiga 5 9 @ = 93
o S & 2

Options :

40503634472, 31 T

40503634473, Q1 ATATRI

Qcollegedunia;



40503634474, 1 HHET

40503634475. e

Planning
Section Id : 405036340
Section Number : 3
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 25
Number of Questions to be attempted : 25
Section Marks : 100
Display Number Panel : Yes
Group All Questions : Yes
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 405036676
Question Shuffling Allowed : Yes

Question Number : 76 Question Id : 4050369480 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Secondary sector of economic activity is
associated with :

Options :

40503634476, L \Briculture

Manufacturing,
40503634477.
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40503634478, Service

40503634479, Mining

Question Number : 76 Question Id : 4050369480 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
=qfefes Tifafafy = W{SOCDI‘IL‘IM}’] o7 fr
T g 2

Options :

40503634476. ?T"fq

40503634477, 17

=

40503634478, T

40503634479, 9

Question Number : 77 Question Id : 4050369481 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Allocation of powers and functions
between Union and State governments is

given in which schedule of the Constitution
of India ?

Options :
40503634480. First Schedule Qcollegedunia;



40503634481, Lhird Schedule

4050363448, Fiith Schedule

40503634483, Seventh Schedule

Question Number : 77 Question Id : 4050369481 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Y qY1 T4 WIERR & =9 v q91 FHEi
1 AEA YR HiEa9H Fi fF9 79 o
e T &2

Options :

40503634480.

40503634481. £

40503634482. e R

40503634483. l SUNL

Question Number : 78 Question Id : 4050369482 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Which of the following criteria is not the
basis of classification of natural resources ?

Options :

40503634484, Lxhaustibility

40503634485, Cwnership

40503634486, Origin

40503634487, Climate

Question Number : 78 Question Id : 4050369482 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

=1 § ¥ FF o AFeS WHfas J9E

STTERT0T T HATHH T2 & 7
Options :
40503634484, TG

40503634485, TNH™

40503634486, 9

40503634487, T3

Question Number : 79 Question Id : 4050369483 Question Type : MCQ Option Shuffling : Yes Display Question Number
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical Q collegeduniai



Correct Marks : 4 Wrong Marks : 1

Who amongst the following was involved
in design of New Delhi ?

Options :

40503634488, OF Ldwin Lutyens

40503634489, e Corbusier

40503634490, Otto Konigsberger

40503634491, Patrick Geddes

Question Number : 79 Question Id : 4050369483 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

e W 9 T ¢ feee @1 fesme T ?
Options :

40503634488, T TSI A

40503634489, 1 FIATR

40503634490, Nl I

40503634491. - =X

Question Number : 80 Question Id : 4050369484 Question Type : MCQ Option Shuffling : Yes Display Question Number Qcollege dunia:



Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

Jawaharlal Nehru National Urban Renewal
Mission (JNNURM) was launched in :

Options :
40503634492, 1970

40503634493, 1975

40503634494, 2005

40503634495, 2010

Question Number : 80 Question Id : 4050369484 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

TATRTATd g% T2E vl Aerhi e
(INNURM) =1 Y[9RH = TR 741 ?
Options :

40503634492, 1970

40503634493, 197°H

40503634494, 2005 H

2
40503634495.
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Question Number : 81 Question Id : 4050369485 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Which of the following does not involve
community participation ?

Options :
40503634496 Demarcation of dense forests

40503634497, Urban Basic Services for the poor

40503634498, Joint Forest Management

40503634499, Beej Bachao Andolan

Question Number : 81 Question Id : 4050369485 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
1 9 § ToFg o T/ Feiar 9isfed el
g7

Options :
40503634496, 1 Tl <l HIHTSH

40503634497, Rk RCTL REGEE S{ETL SRR,

40503634498, 3T T HTHA

40503634499, 91 =S AT
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Question Number : 82 Question Id : 4050369486 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Out of Mohenjo-daro, Harappa, Lothal and
Dholavira, which of the following cities
were laid out on grid pattern ?

Options :
40503634500, Mohenjo-daro and Harappa

Mohenjo-daro, Harappa and
40503634501, Pholavira

40503634502, Harappa and Lothal

Mohenjo-daro, Harappa, Dholavira

40503634503, 2nd Lothal

Question Number : 82 Question Id : 4050369486 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
HieAsil-arel, g9, digd ao derE 3 §
o wedi =1 fire T W =

Options :

40503634500, T o —aTSl AT &

40503634501, Teall—<Igl, @SH1 T4l el =™
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40503634502, T 1 T

TEall-ar2l, B89, SeArE a9 eige
40503634503,

Question Number : 83 Question Id : 4050369487 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
What is the full form of 10T ?
Options :

40503634504, [nternational Organisation for Trade

40503634505, Internet of Tweets

40503634506, Interest on Transactions

Internet of Thing_s
40503634507.

Question Number : 83 Question Id : 4050369487 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

IOT &1 901 9 (full form) 1 &7
Options :

40503634504 International Organisation for Trade

40503634505, Internet of Tweets
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40503634506. Interest on Transactions

Internet of Thing_s
40503634507.

Question Number : 84 Question Id : 4050369488 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The Second United Nations Conference on
‘Human Settlements Habitat II" was held
mn :

Options :
40503634508, Vancouver

40503634509, Kyoto

40503634510, 1stanbul

40503634511, 2uito

Question Number : 84 Question Id : 4050369488 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
"B Teertey BfaeE 111 W 9 Hyw e
e 8 w2t ¥ sarnfaa faran oo ?

Options :

40503634508. 3
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40503634509. l

40503634510, < 3

40503634511. i

Question Number : 85 Question Id : 4050369489 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The first Sub-urban Railway line in India
started its operation in :

Options :
40503634512, 1857

40503634513, 1984

40503634514, 1901

40503634515, 1837

Question Number : 85 Question Id : 4050369489 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
A H T8ci ST 1o 5 1 e (69

a9 g ?
Options :

40503634512, 1857 _
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40503634513, 1984

40503634514, 1901

40503634515, 1837

Question Number : 86 Question Id : 4050369490 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Which of the following cities is not planned
ona grid pattern ?

Options :

40503634516. i-fashingtm‘n DC

40503634517. Amsterdam

40503634518, Barcelona

MNew York
40503634519.

Question Number : 86 Question Id : 4050369490 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
e wredi § | @ w1 fire Yo w TE@ 3
™

Options :
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40503634516. ol

40503634517,

-

40503634518.

40503634519. L

Question Number : 87 Question Id : 4050369491 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The largest source of water pollution in
India is due to :

Options :
40503634520. Small Scale Industries

40503634521 Agricultural Run-off
40503634522. Untreated Sewage

40503634523 Large Scale Industries

Question Number : 87 Question Id : 4050369491 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Options :

40503634520, 13 5%
40503634521, 1Y ST

40503634522, 13 T 1

2 M
40503634523, -

Question Number : 88 Question Id : 4050369492 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

What is indicated by a contour line on a
topographical map ?
Options :

40503634524, Height

40503634525, Administrative Boundary

T ; &
40503634526, " cBetation

40503634527, VVater Body

Question Number : 88 Question Id : 4050369492 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
gcollegedunias
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TS AT (topographical) Tl T FH=
(contour) a1 T =9I &2
Options :

40503634524. i

40503634525, AN i

40503634526, TTEIITA

40503634527. FEE A

Question Number : 89 Question Id : 4050369493 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The ratio that shows a relationship between
the distance on a map and the actual
distance on ground is known as :

Options :

40503634528, Direction

40503634529, ey map
40503634530, Scale

40503634531, 1sotherm

Question Number : 89 Question Id : 4050369493 Question Type : MCQ Option Shuffling : Yes Display Question Number Qcoll egedunias



Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1
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Options :

40503634528, 12N

40503634529, [Ha¥ HIA(=

40503634530, T

40503634531.

Question Number : 90 Question Id : 4050369494 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Find the correct match :

(P) Dhanbad (I)  Textle
(Q) Kandla (I) Mining
(R) Bokaro (IIT) Port
(S) Surat (IV) Steel
Industry
Options :

10503634532, PFD), (Q-(D, ®)-(1I), (S)-AV)

40503634533. {P]-{I], {Q]-{I]]], {R]-{]]], {5]-{1‘»?]
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10503634534, €D, Q)-D), R}-AV), (SH(D)

40503634535, ©)- (), (Q-(II), (R)-(V), (S)-()

Question Number : 90 Question Id : 4050369494 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

e e 919 Fifa

(P) AR M ww
(Q) =rsem (1) &=
(R) =rFr (1) ==Tme
(S HW (V) =& 3=m

Options :

10503634532, P, (Q-(D), R)-(II), (S)-(V)
10503634533, (P, (Q-(II), (R)(ID), (S)-(V)
s0503634534 @D, Q- R:-AV), (S-(D)

40503634535, LD, (Q-(II), (R)-(IV), (S)-(I)

Question Number : 91 Question Id : 4050369495 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Select the indicative graph that best fits the
Statement : “Car prices rose steadily,
dropped a little and are now holding

steady”.
s
/
. |
(A) (B)
|
|I // 1\'
= x’; // -
© | ©)
Options :

40503634536. G

40503634537 (B)
40503634538, (D)

40503634539, BOth (©) and (D)

Question Number : 91 Question Id : 4050369495 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is

Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1
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Options :

40503634536, ()

40503634537 (B)

40503634538. (D)

40503634539. 2 el b

Question Number : 92 Question Id : 4050369496 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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The diagram above shows the number of
men and women using different modes of
transport to commute to their work place.
Which of these statements is the correct
answer ?

Options :

50% of all those who cyde to their
40503634540, work places are women

More men compared to women use
auto-rickshaw for commuting to

40503634541, Work place

More women compared to men cycle

40503634542 to their work place

The highest share of persons walk to
40503634543, their work place

3
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Question Number : 92 Question Id : 4050369496 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1
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Options :
A g, S WEfEE o 5 e W
40503634540, ST €, F1 50% HieaTd 1
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T H ATeIF T A2l [ & gaH e
40503634541, P
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40503634542, & Nt S THA Il 1

Qcollegedunla



=feadl &1 a9 AT 9 S99 w1

40503634543, T T TS A 2

Question Number : 93 Question Id : 4050369497 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

One site is divided into 10 < 10 units as
shown in the figurr_-. It has fnllnwing

classification of land area.
(A) Waste land 5§

(B) Forest land [

(C) Agriculture land
(D)  Unused land []
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Which of the following classification has
the highest amount of land ?

Options :

40503634544, 'V aste land

40503634545, Forestland

40503634546, Agriculture land
Qcollegedunia;



40503634547, Unused land

Question Number : 93 Question Id : 4050369497 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Options :

ELE
40503634544, ki

40503634545. ' qiﬁ:'
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40503634546. e

40503634547, 3T I

Question Number : 94 Question Id : 4050369498 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

In the given figure the volume of the
shaded portion is :

Options :
40503634548, 46,200

40503634549, 30,800

40503634550, 15,400

40503634551, /700

Question Number : 94 Question Id : 4050369498 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Options :
40503634548.

40503634549.

40503634550.

40503634551.

46,200

30,800

15,400

7,700

Question Number : 95 Question Id : 4050369499 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is

Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Following table gives the number of
families according to family size. What is
the average family size ? (Rounded off to

one decimal)

S.No. Family size No. of families
(persons)
b, 3 300
v 4 200
3. 5 400
4. ) 400

Qcollegeduniaa



Options :
40503634552, 4.5

40503634553, 4.7

40503634554, 4.9

40503634555. 50

Question Number : 95 Question Id : 4050369499 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
R 35 ST 3 AER R T e
Rl § €1 M 71 ied TfEn s E 2
(Tsh =¥Hed TH °6 I%G)

FHH| YHRAR AER qREri
(=) qEA
3 300
2. 4 200
3. 5 400
4. 6 400
Options :

40503634552, 4.5

40503634553, 4.7

40503634554, 4.9

Qcollegedunia;



40503634555. 50

Question Number : 96 Question Id : 4050369500 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is

Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Read the given passage and answer the
question.

The United Nations (UN) has warned that
the global consumption of natural resources
could triple to 140 billion tons a year by 2050
unless consumer nations take drastic steps.
The UN environment panel called on
governments to ‘decouple’ economic
growth from the rapid rate of natural
resource consumption. It said the world is
already running out of some essential
materials including oil, copper and gold,
which in turn, will need rising volumes of
fuel and water. Decoupling involves
transition to a low-carbon, resource efficient
green economy that stimulates growth in a
way to keep humanity’s footprint within
planetary.

The term “decoupling” here would entail :

Options :

Birth control measures to reduce

40503634556. resource CDI‘ISLIII’IPT.‘EDI‘[

40503634557 Production of cheap materials

40503634558, Talk less and work more

:
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Promoting growth that stresses on
reducing the rate of consumption of

natural resources
40503634559.

Question Number : 96 Question Id : 4050369500 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is

Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Read the given passage and answer the
question.

The United Nations (UN) has warned that
the global consumption of natural resources
could triple to 140 billion tons a year by 2050
unless consumer nations take drastic steps.
The UN environment panel called on
governments to ‘decouple’ economic
growth from the rapid rate of natural
resource consumption. It said the world is
already running out of some essential
materials including oil, copper and gold,
which in turn, will need rising volumes of
fuel and water. Decoupling involves
transition to a low-carbon, resource efficient
green economy that stimulates growth in a
way to keep humanity’s footprint within
planetary.

The term “decoupling” here would entail :

Options :

Birth control measures to reduce

40503634556. resource CDI‘ISLIH‘IPT.‘EDI‘[

:
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40503634557 Production of cheap materials

40503634558, Talk less and work more

Promoting growth that stresses on
reducing the rate of consumption of

natural resources
40503634559.

Question Number : 97 Question Id : 4050369501 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is

Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Read the given passage and answer the
question.

The United Nations (UN) has warned that
the global consumption of natural resources
could triple to 140 billion tons a year by 2050
unless consumer nations take drastic steps.
The UN environment panel called on
governments to ‘decouple’ economic
growth from the rapid rate of natural
resource consumption. It said the world is
already running out of some essential
materials including oil, copper and gold,
which in turn, will need rising volumes of
fuel and water. Decoupling involves
transition toa low-carbon, resource efficient
green economy that stimulates growth in a
way to keep humanity’s footprint within
planetary.

Identify the correct statement :

Options :

:
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140 billion tons of natural resources

40503634560 will be consumed till the end of 2050

Green economy refers to an economy
40503634561 that is based on forest resources

Green economy refers to an economy
that produces at lower carbon

40503634562. footprint and is resource efficient

The UN has asked governments to

40503634563 reduce their economic growth

Question Number : 97 Question Id : 4050369501 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Read the given passage and answer the
question.

The United Nations (UN) has warned that
the global consumption of natural resources
could triple to 140 billion tons a year by 2050
unless consumer nations take drastic steps.
The UN environment panel called on
governments to ‘decouple’” economic
growth from the rapid rate of natural
resource consumption. It said the world is
already running out of some essential
materials including oil, copper and gold,
which in turn, will need rising volumes of
fuel and water. Decoupling involves
transition toa low-carbon, resource efficient
green economy that simulates growth in a
way to keep humanity’s footprint within
planetary.

Identify the correct statement :

Options :

140 billion tons of natural resources
will be consumed till the end of 2050

40503634560.

Green econo my refers toan economy
40503634561 that is based on forest resources

Green economy refers to an economy
that produces at lower carbon
footprint and is resource efficient

40503634562.

The UN has asked governments to

40503634563, Teduce their economic growth

3
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Question Number : 98 Question Id : 4050369502 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Statement : The citizens of Narbhada city
are facing water shortage.

Given are the two courses of action
available to the Municipal corporation.

(I)  The Municipal Corporation of
Narbhada should immediately take
action to prevent all water leakages
and theft.

(Il The Municipal Corporation of
Marbhada should cut the water
supply to its residents by half.

Which of the ff}llf}wf_ng options is most
appropriate ?

Options :
40503634564, only (I)

40503634565, °nty (1)

40503634566, Poth (I) and (IT)

neither nor (11
40503634567. 0 @

Question Number : 98 Question Id : 4050369502 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Options :

40503634564.

40503634565.

40503634566, 1) T (D) =

40503634567.

Question Number : 99 Question Id : 4050369503 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

In a survey taken for household income in
an area, mean annual income of the
households came to be Rs 10.0 lakh and the
median income was Rs 4.0lakh perannum.
Which of the following statement will
explain the difference between mean and
median income of the households ?
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Options :
more than 50% of the households
40503634568. have income around 10.0 lakh

more than 50% of the households
have income much higher than

40503634569, 10.01akh

few households have income much

40503634570 tugher than 10.0 lakh

most of the households have income

40503634571. between 4.0 lakh to 10.0 lakh

Question Number : 99 Question Id : 4050369503 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Options :

50% § #ATYs IER T A" o
40503634568, 100 T 2l
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Question Number : 100 Question Id : 4050369504 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is

Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Statement | :

Sustainable development means
development that takes place without
causing damage to the environment.
Statement 11 :

Sustainable development means
development that meets the needs of the

present without compromising the needs
of the future generation.

Which of these is correct ?
Options :

40503634572, Statement (I) only

40503634573 Statement (II) only

Both statements (I) and (II)
40503634574.
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40503634575, Neither statement (I) nor (II)

Question Number : 100 Question Id : 4050369504 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is

Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

91 :
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Options :

Fae &M (1)
40503634572.

40503634573, Pl HE (II)

40503634574. Gl B

T 91 F9F (1) 7 = FEA
40503634575, 0 &
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Section Id :

Section Number :
Section type :
Mandatory or Optional :
Number of Questions :

Number of Questions to be attempted :

Section Marks :

Display Number Panel :

Group All Questions :

Mark As Answered Required? :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

Question Number : 101 Question Id : 4050369505 Question Type : SUBJECTIVE Display Question Number : Yes

Correct Marks : 50

In the space provided for the answer of this
question, draw an aesthetic composition
appropriate to this space using triangles
and rectangles. There is no restriction to
numbers, sizes, placement and directions

of these shapr_-s. Color this composition so

that it becomes visuall}-' exciting.

Question Number : 101 Question Id : 4050369505 Question Type : SUBJECTIVE Display Question Number : Yes

Correct Marks : 50

Drawing
405036341
4
Offtline
Mandatory
2
2
100
Yes
Yes
Yes
1
405036677
No

Qcollegedunia;



39 U & I & Y USM 1 T TR H,
Tl UE A 1 SUEr w6 59 ™H
ot Suge U Aied G AR HE1 T
T S Jiqes E g1 59 T H 4 S A
g 3fte | 9=+ & 9|

Question Number : 102 Question Id : 4050369506 Question Type : SUBJECTIVE Display Question Number : Yes
Correct Marks : 50

Draw from imagination a gardener

working in the garden.

OR
Draw from imagination a scene of a place
for praying.

OR

Draw from memory your best friends face.

Question Number : 102 Question Id : 4050369506 Question Type : SUBJECTIVE Display Question Number : Yes
Correct Marks : 50
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